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1. Write the following in words.
(a) 11:

(b) 743:

(c) 8015:

(d) 2598:

2. Write the following in figures.

(a) Seventeen:

(b) Two hundred and forty two:

(c) Three thousand two hundred and fifteen:

(d) Seven thousand nine hundred and seven:

3. Following the example, write the numbers in expanded form.

(a) 5893 = (5 x 1000) + (8 x 100) + (9 x 10) + (3 x 1)

(b)8491=(__ x1000)+(__ x100)+(__ x10)+(__ x1)
(c)2741=(__ x1000)+(__ x100)+(___ x10)+(_ x1)
(d)3526=(___ x1000)+(___ x100)+(___ x10)+(_ x1)
(e)4605=( __ x1000)+(___ x100)+(___ x10)+(__ x1)

4. Write down the missing numerals.
(a)3000+900+20+7=
(b) 500 + 8000 + 3 +40 =
(c) 2 thousands + 3 hundreds + 8 tens + 5 units =

(d) 8 tens + 6 thousands + 7 units + 4 hundreds =



5. Complete the sequence by writing the missing numbers.

(a) 597, 598, 599,
(b) 330, 335,
(c) 640, 650, 660,
(d) 725, 750, 775,
(e) 423, 426, 429,

6. Work out.

J

340,

(a) 4328 + 470 =

(b) 8047 — 5468 =

(c)47 x5 =
(d)81+9=

7. What is the sum of the values of 6 and 8 in 7648?

8. The table below shows the number of book sold at a bookshop

during the five week days.

Days Monday | Tuesday | Wednesday | Thursday | Friday
No. of books
sold 40 45 50 35 42

(a) How many books were sold on Monday, Tuesday and Wednesday?




(b) How many books were sold on Thursday and Friday?

(c) How many books were sold during all the five days?

9. A fruit seller had 712 mangoes. He sold 328 out of them. How

many mangoes did he have left?

10. (a) Find the product of 64 and 32.

(b) Find the difference between 9825 and 3652.



11. Paul has 15 boxes each containing 25 beads. Ruben has 18 boxes each
containing 23 beads.

(a) How many beads does Paul have?

(b) How many beads does Ruben have?

(c) How many beads do Paul and Ruben have altogether?



